The tiger
Answer:

B2

through the grass.

The dolphin
Answer:

out of the water.

The eagle
Answer:

high in the sky.

The kangaroo
Answer:

across the field.

The lion
Answer:

its prey in the savannah.

The elephant
Answer:

in the African plains.

The cheetah
Answer:

at incredible speed.

The gorilla
Answer:

in the jungle.

The giraffe
Answer:

tall to reach leaves.

The crocodile
Answer:

in the river.




Answers

The tiger through the grass.
Answer: stalks

The dolphin out of the water.

Answer: leaps

The eagle high in the sky.
Answer: soars

The kangaroo across the field.
Answer: bounds

The lion its prey in the savannah.

Answer: hunts

The elephant in the African plains.

Answer: roams

The cheetah at incredible speed.
Answer: sprints

The gorilla in the jungle.
Answer: dwells

The giraffe tall to reach leaves.

Answer: stretches

The crocodile in the river.

Answer: lurks



